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1. What are the two ordering properties of a treap?  What is its structural property?












2. Create a treap with the following (key, priority) pairs: (2,7), (6,5), (4,1), (8,9), (10,3).







Do you think everyone in the class will come up with the same treap?



3. In a perfect skip list with 32 elements, there are 32 height 1 pointers.  How many height 2 pointers are there?









4. Why did we bother defining randomized skip lists?







5. For the amortized analysis equation:  Tactual + ( Potential = Tamortized,


a. What does Tactual stand for?




b. What does Tamortized stand for?




c. What is Tactual for merging two skew heaps?




d. True/false:  To obtain an amortized upper bound, the final potential must be no less than the initial potential, and we usually guarantee this by starting with zero potential.
6. True/false:  Google uses inverted indexing for efficient information retrieval.






7. How long does a find() operation take in the zero-knowledge set representation Bill talked about?



How long does find() take if we use the Union-Find data structure?
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